Weighted Average

(HTRE 3NT)

Concept Lecture - 1
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The average marks of all the students of a
class A are 60 and that of all the students of
class B are 50. Find the average marks of all
the students if both classes are merged?

Fam A & Tt o3 F 3Ad 3F 60 §
AR #am B & WY s F T I+
50 @ 3R QY FHamdt Fr e I
ST o A wem & gt sEr & IEd
3% fRdar gl

a) 50 55
c) 60 an’t say
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The average weight of 16 boys in a class is
51 kg and that of the remaining 8 boys is
48 kg. Find the average weight of all the
boys in the class.

TH Fell H 16 a5 &1 3igd 9R 51
kg & 3R ST F 8 wSHI FT AT HR
48 kg &1 Fa&m & ¥ o= F1 dHwa
AR AT

a) 49 \bﬁO

c) 51 d) 48




The cost of the Red, Green and Blue colors
per Kg is Rs.20, Rs.15 and Rs.18 respectively.
Rangmahal is a renowned building in which
these three colors are being used in the ratio
of 3:2:4. The average cost of all the three

A = o

colors used per Kg is:

arel, &Y R aer @1 #w AT wAw: 20
9, 15 9 3R 18 F4F ¥ @r Hgel
s yRgy sARa § oad der wr
3:2: 4 3?3FFHH ﬁ'sxawna'gmnih e
IﬂﬁzFraﬁaa'u—aﬂ%ﬁn'inaiﬁt

a) 20 4ﬁ?18

¢) 15 d) 53/3




Three types of rice whose rates are Rs.10, Rs.15
and Rs.20 are blended togeth(.e’r%tg?ake a new

blend of rice in which there are and
5657Kg of the respective type of rice. The average
BE} + §¢+ ,OZ =16 price of the new blend of rice is:
[)zf d9 TE & IEa e 7z 10 T, 15
30 3T 20 TUX ¥, SART RAUT ST F

faT 3¢ FAA: 39 kg, 26 kg 3R 65 kg AT
Ao AT gEd & S Ao &1 otea
Ao A FL:

},15 b) 10
/)’16 d) 12




Two mixtures containing milk in 30% and
75% concentration are mixed in ratio 1: 2.
What will be the concentration of milk in

| R 2 the new mixture?
ar o #F g v A 30% HR 75%
20v 5% ¢l 3% 3¢ 1:2 U & e sme
° ar T fsor & gy Y AT 4T e
a) 40% b) 45%
204 |50 ) 70% 60%
=6v/
3
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A drink of chocolate and milk contains 8%
pure chocolate by volume. If 10 litres of
pure milk are added to 50 litres of this
[ N

drink, the percentage of chocolate in the
new drink is:

g IR gy F WS H AW F
feae & 8% ey wiwac 3| IRE 3W
d-yerd Y 50 faeT AET F 10 faex
amqgﬁmm% ar dv 93-
qarei meﬁr&mm@rﬁw
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The ratio of number of boys and girls in a
school is 3: 2. If 20% of the boys and 30% of
the girls are scholarship holders. Find what %

b ?’ of students are not scholarship holders?

35 2 s gy &Y
mma:raamsz %Hﬂ%zo% ag,ﬂ?

Qo 10/ iR 30% wEfRar oEEfd uRE & ar

fFaet % B sEgfa URE 78 &2
(—)ﬁe% b) 24%

(RU0F0 280 0 Te74% @) 26%

5 §]




The population of a village is One

fifth are females and the rest are males. 5% of

males and 40% of females are uneducated.

What percent on the whole are educated?

TF MG T SIHEAT 25000 g1 oEH @

1/5 Afeme i A gew ¥ 5% W 3k
40% AT FNRF B ER IATETT &

frdar % oot fafag 82

a) 75% 5188%

c)55% d) 85%
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Alloy A contains metals x and y only in the
ratio 5: 2)and alloy B contains these metals
in the ratio 3:4, Alloy C is prepared by
mixing A and B in the ratio_fl_:_S_. The
percentage of metal x in alloy Cis:A% &

for g A & Faa x 3Ry uig @
3eqaTd 5.2 ¥ 3k @R O B A 3T
uﬁaﬂa»'raimmszt g s ¢, A
A B F 45 & U A

IR fr S g ﬁr»nn?r C & x @&l
yfaera Ad Sifa|

a) 445 b) 45 c) 56 %/55%
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) There are three containers of equal
]2V 3 : . N
&x 5 capacity. The ratio of Squht/x_r\lc acid to water

SAH . W 2410 in the first container is 3:2, that in the
)% |18 . /2. second container is ;7:3,and in the third
' . q 2x15 container it is 11:4, If all the liquids are
X K2 o mixed together, then the ratio of Sulphuric
1X 2 8 acid to water in the mixture will be:




/_\ Three containers A,B and C are having

_ 7 ixture of _milk and water in the ratio
Xl:_]_])(é.;.g)(__ &E@ and 7:5 respectively. If the
. pZL Iz capacities of the containers are in the ratio

@Z_: 5, find the ratio of milk to water, if the
+) mixture of all 3 containers are mixed

2 together? o
77  _ 774 AB3R C, 3 A\ I H 3ﬁTtn7gr
Ton F U FHA: 1:5,3:4 7:5 B
12 XI5 (8O qfE 37 Al HT 4T F I 3:7:5
g ar e Bl & Bee W ogw 3k
‘,\)-_\‘&‘0—7'7@ Y AET FT AT FAT B1MM?
77:103 b) 103:77
c) 77: 26 d) 77: 180
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Two vessel contain mixture of milk and
water. In 1st mixture milk is 20% less than
water and in 2nd mixture water is 63.63%
of milk. If 12 Itr of 1st mixture and 18 Itr of
2nd mixture is mixed then find th io of

49:41
| | 13



Three vessels whose capacities are in ratio 3: 2: 4

. 2, are completely filled with milk mixed with water.

}/X_Z_.: 71)(__ : ﬁxf& The ratio of milk to water in three of vessels are
}/ ’f" respectively. 3: 5, 4: a?dLli. Find the ratio of

. milk and wﬁé?in & new RiXture obtained when

L1 ° 2 . > 66.66% of 1st, 50% of 2nd and 37.5% of the
( 3rd vessel is taken out and mixed together?

' 0 |UD  gavar o1 requrer 3:2:4 §] e A F gy
328 W |6 3 el AT F e FA: 305, 401
D2 , #R 1:3 ¥ geX 8T T ¥ 66.66%, guY F

R e ot i SRR & EA i N
— 1. C X8 I, 30T

4541 1206 T, AT T3] ®

77 0 |v3\HA77:103 b) 103:77
c) 77: 26 d) 77: 180
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A student got 60%, 68% and 70% marks in
three tests. Find his aggregate percentage?
el s & AT Ryt & 60%,68%
I 70% IF IMA| IHFT Fa vlawd
ATT U

a) 66% b) 67.5%

c) 68% %:an’t say




A student scored 40%,50%,60% and 70%
marks in four tests, in which the maximum
marks are in the ratio 1:2:3:4. Find his

aggregate percentage? ) )
Up+ loy+ (8 g T o a G LK "
|¢ 40%, 50%, 60% 31X 70% 31+ AT &F,

fSea rflsad 3% 1:2:3:4 F eurd #
9| 3HHT T IfAAT AT FS|
=607 a) 50 b) 56
60 d) 62.5




The average height of all boys of a class is
165 cm and that of all the girls is also 165
cm. What is the average height of all the
students of the class?

Rt wam F weft ast A twa FAE
165 Worle T HR welt wsfrat A
ditaa Far$ ot 165 Fowle @ 3H Fam
& ol i tua I Taqn3|

165 cm b) 160 cm
c) 168 cm \9{\Can’t say
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Two-thirds of a consignment was sold

at a profit o-f=6=% and the rest at a loss
of 3%. If there was an overall profit
of Rs. 540 , the value of the
consignment was:

TFH W9 FT a1- fAgE 6% @ W

aar AY F 3% g HA <=1 A>T

IJfe Q@ T A 540 T &1 AT

g3, A AT T AT AT N

a) Rs 15000 b) Rs.16000
Rs.18000 d) None of these
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A person bought 76 cows and sold 20 cows
at 15% profit, 40 cows at 19% profit and
remaining cows at 25% profit and got a
profit of Rs.6570 as a whole. The cost price
of each cow is
TF Ffed o 76 I L ITA 20
AT 15% & A W, 40 I 19% &
AT 9T JUT A¥ A 25% F ATH W
ag & Ify @ g F 37 6570 F @
9

Fd AT EI;, A TAF TT F HI
Ao AT

s.450 b) Rs.425
c) Rs.420 d) Rs.400




Mr. Gupta deposits Rs.3000 in a bank at
10% per annum and Rs.5000 in another
bank at 8% per annum. The rate of interest
for the whole sum is:-

s scarsit & 3000 ¥, 10% Yfady &

9

X W TFH dF & aar 5000 3, 8%

gfaad & qr @ gEy dF # AT R
W gerelt & AT sarer #1 g w4 872
a) 8%2% 834%

c) 8% d) None of these

| | 20



A person invested_Z_@of his capital at 3%
p.a., l[@at 6% p.a. and the remainder at
129% p.a. simple interest. If his annual gain
is Rs.25, then the capital is:-

w—qﬁ?r#wﬁaw 2/3 fe&ar 3%
yfay & &X W, 1/6 REAT 6% WGy
F T W Jgr AV &' 12% vfaay¥ & T
W AYUROT g & faaer fFar afg af
F g HA 3 25 T HT ATH I, ar
3ER ot A el T =Y

a) Rs.490 b) Rs.510

MS.SOO d) None of these




L[u. A cloth merchant sold half of his cloth at 40%
profit, half of the remaining at 40% loss and
the rest was sold at the cost price. In the total

2 : | ] transaction his gain or loss will be
. ' UF FUYST AR A HIad FYS 6T ATET
e —lba v REET 40% & A W ST, AV FUS &
+407. o7 4 3T REAT 40% Fr g W aur AW F93
$I 3HH AN Aed W 99 &g @ -

0-40 +0 &7 & IHST AN AT gl % FAT A7
*"f a) 20% gain b) 25% loss
L‘ %0% gain d) 15% gain
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Sugar worth Rs.32 per kg and Rs.36 per kg

are mixed with a third variety in the ratio

f the cost of the mixture is Rs.37%

per kg, then the price of the third variety of
sugar (per kg) is:

32 ®u 9fqd fFel, 36 ®Uv ufa fFal
IR wF day gwr 7 Al #@ o1:2:3
& Hqud H Aemm T 3R 5w
fsor it e 37; T gfy R @
ar Y yeR @ A4 FT AT Tans
a) 36 b) 38 /{40 d) 42
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220 Iss 565 0
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group of students in a test wa The
brightest 20% of them secured a mean

The arithmetic mean of the scorff of a

- score of 80 and the dullest 25%, a mean

score of 31. The mean score of remaining
55% is:

TH G{Er A SEl F TH WHE
Al F AT 52 U1l 39A @ e
R 20% & 3tEd 3F 80 TUT
FIH FET 25% o Aaa 3w 31 e
fraT 99 55 % &1 AT IF AT

C g
a) 50% A/Sl. 4 approx.
c) 54. 6% approx. d) 45%

| | 24



@ A man buys a field of agricultural land for
000. He sells onet a loss of

20% and twaifth) at a gain of 25%. At
what price must he sell the remaining field
so as to make an overall profit of
T A FN HFE F o aqEs
—loo + 150 + YUt = |50 360,000 5 F @hear ¥ 7@ TEA A
1/3 & 20% HT g 9T T4T 2/5 A
gq

5 6 Y 15
207 4257 X=25 o,

+So loo/. 25% & o 9T d9dr gl A9 ¥
6 , &7 F FE g W 9 TRk afe
2605000 xY 5 Fo T 36000 TIT 17

lS !l a)Rs.1,00,000 b) Rs.1,15,000
Rs.1,20,000 d) Rs.1,25,000
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